=T B @.f

g -1 HRLO =R | RUE| @& A BR %= IR
ERGRE FEI—R JANI— R BEYvT « HyTER 21k [EE R Sl YV A1) L 9 d K k2 B | REWE| SREM| Tyoe
yk % B F S1KX Eik @ 6H 1BJIS2#R mm mm mm mm mm
T-H-HT-M6X0.75-S 256-0857 4550414031672 TRUSCO /N\YR&vyTtwyhk HSS-E M6X0.75 1 62 20 6 45 7 3 AN HSS-E A
T-H-HT-M6X0.5-S 256-0856 4550414031665 TRUSCO /N\YRHwTEwE HSS-E M6X05 /1 55 15 6 45 7 3 /AN HSS-E A
T-H-HT-M8X1.0-S 256-0858 4550414031689 TRUSCO /\YR&vyTtwyhk HSS-E M8X10 1 70 30 6.2 5 8 4 AN HSS-E C
T-H-HT-M10X1.25-S 256-0862 4550414031702 TRUSCO N\YRHwITEwhk HSS-E M10X1.25 /1 75 32 e 55 8 4 /AN HSS-E C
T-H-HT-M10X1.0-S 256-0864 4550414031696 TRUSCO /\YR&vyTtwyhk HSS-E M10X10 1 70 30 7 55 8 4 AN HSS-E C
T-H-HT-M12X1.5-S 256-0865 4550414031733 TRUSCO /N\YR&HwITEwk HSS-E M12X15 /1 82 38 85 6.5 9 4 /AN HSS-E C
T-H-HT-M12X1.25-S 256-0859 4550414031726 TRUSCO /N\YR&vyTtwyhk HSS-E M12X1.25 /1 80 38 85 6.5 9 4 AN HSS-E C
T-H-HT-M12X1.0-S 256-0866 4550414031719 TRUSCO /N\YR&HwITEwk HSS-E M12X10 /1 70 30 85 6.5 9 4 /AN HSS-E C
T-H-HT-M14X1.5-S 256-0868 4550414031764 TRUSCO /N\YR&vyTtwyhk HSS-E M14X15 /1 88 42 105 8 11 4 AN HSS-E C
T-H-HT-M14X1.25-S 256-0863 4550414031757 TRUSCO N\YRHvwITEwE HSS-E M14X1.25 /1 88 42 105 8 11 4 /AN HSS-E C
T-H-HT-M14X1.0-S 256-0860 4550414031740 TRUSCO /\YR&vyTtwyhk HSS-E M14X10 1 70 30 105 8 11 4 AN HSS-E C
T-H-HT-M16X1.5-S 256-0869 4550414031788 TRUSCO /N\YRHwITEwk HSS-E M16X15 /1 95 45 125 10 13 4 /AN HSS-E C
T-H-HT-M16X1.0-S 256-0867 4550414031771 TRUSCO /\YR&vyTtwyhk HSS-E M16X10 1 75 30 125 10 13 4 AN HSS-E C
8 — N =) =1

8 oire | ~S2 kRSt B \YESyT@E Y | T-HHT yU-X




